ANSWERS - VOLUMEZ2: STRESSES, STRAINS, DISPLACEMENTS

Chapter 4, Members Subject to Bending and Extension

problem 4.083, page 260

Remarks: See 84.4, pages 168 till 170
See 84.5, pages 171 till 184

ANSWETS:

d. o, =+11 N/mm?
oy, =+0,5 N/mm?

e. o, =+1 N/mm?
oy, =+5,5 N/mm?

Explanation:

a. Distance between NC to bottom of the profile:
(600x10x300 mm?®)

=200 mm
(600x5 mm?) + (600x10 mm?)

b. units in mm:
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. The bending moment varies linearly:

x=0: M, =—6,3 kNm
x=3m: M, =+7,2kNm
The normal force is constant: N =+36 kN
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= +4 N/mm?

Atx=2m: M, =+2,7 KNm

o™ = +4 N/mm?
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